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ol Moimel U GYEEAY (et9l: 22
SH-EH . O3 - MBAY - BAS 0f Ao Soe HRZ2
01 2z = 4| 900 900 0
OstlE ML S EHAEALS 900,000 900
= 270
= 630
Ot M A Y 2 3,000 3,000 0
206 M2 3,000 3,000 0
01 MEHl 3,000 3,000 0
OxHEILERL 3,000,000 3,000
LE S 19,825 19,500 325
J| 9,913
& 4,956
o 4,956
101 Q14| 19,825 19,500 325
J| 9,913
= 4,956
iy 4,956
10 JIZtHIZ2ENSE S 19,825 19,500 325
OUYHES=HE o=
1,982,500 » 1¥ * 10& 19,825
J| 9,913
= 4,956
= 4,956
S 2L E S A A 68,888 28,259 40,629
Dl 34,444
& 17,222
iy 17,222
307 QIZtOIA 68,888 28,259 40,629
J| 34,444
& 17,222
iy 17,222
01 =< F=H| 68,888 28,259 40,629
O0IZ2tHE o A& EH| 32,845,000 32,845
J| 16,423
= 8,211
o 8,211
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L= 34,040
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307 glz2told 56,735 45,428 11,307
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01 S22+ =2l 56,735 45,428 11,307
OB 2B 0ILES(8,0002)
56,735,000 56,735
= 34,040
i 22,695
HEES 32,000 55,800 A 23,800
307 glz2told 32,000 55,800 A 23,800
01 232l 32,000 55,800 223,800
OB0KIOI & QIBZQT SRHE
8,000 » 4,000H 32,000
2etelob EIXIArE (&) 87,624 0 87,624
= 43,812
= 43,812
101 el2H] 1,300 0 1,300
= 650
= 650
10 JIZtH22ASES 1,300 0 1,300
O (LA E) 5,000 » 2 = 1002 1,000
= 500
i 500
OusH(gdele) 150,000 * 29 300
< 150
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201 Lt 22,324 0 22,324
& 11,162
= 11,162
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Az & [(EHA)
el JI2dE(BAL) (ctel &
SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2
01 At 2teld] 41,570 26,465 15,105
ORA2EII2Z| 31,070
—SHAEFAANE 50,000 * 43 200
—QRAEANTY 60,000  5& 300
—EAzAMHARO 30 » 158 = 5,0008 2,250
—SteEX 100,000 * 104+ Xt 1,000
—dHEEE 850
- 23 25,000 * 104Xt 250
45 40,000 * 15&F Xt 600
—=HEX 220
- M 70,000 = 24Xt 140
- B4 80,000 » 1&HKt 80
—SAEX 20,000 * 3004 At 6,000
RN 5,000 * 2005 1,000
—JIS2ANREE 500,000 * 43| 2,000
—=AMIIEH 187,500 * 84 1,500
—=AJ|==2l 200,000 * 23| 400
—HAEH 50,000 = 74 350
—ZelHIIEY 250,000 * 29 = 30 15,000
OF=14:1 5,000
— A2t 2R S 2 0HAHI 5,000,000 5,000
o244 5,500
— &Y 50,000 » 1& = 110 5,500
202 O4dl 48,672 52,416 A3,744
01 =Waodl 48,672 52,416 N3, 744
OJl2g =380l
120,000 * 52 * 128 * 65/100 48,672
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